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This document related to the mock test paper of skilled trade test for Joiner (Assembling). Should you require
an English version of this document, please contact Trade Test Centre at 2100 9232.
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1. B—4 20 EXREARABBLAEEE 50 2XRAN EEASRE®K ?
a. 25( 2XK)
b. 32( 2XK)
c. 50(=X)

d 75(2K)

2. ZEMERTEE?
a. EEESALA
b. HEU&E
c. BEEENANE

d. ZsiaiER

3. BRREMERERAR?
a. I\
b. KR
c. EEOHM

d =ZHEZE
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a.

b.

C.

d.

12 0§
22 Y
24

32

EigEE B L EITIRE ?

o

EAUESERIE
o T fim ARV RS MR S (1 &
BMmRE

MR

Hp

ZERmIBERERRE ?

QL

o

VA
JKIEIR
SH ER SE

Ex-=p=

8 2/7



EARTEMAE QISR AR 2 Elnls - BRI EERR ?
a. FEKFE

b. MFFA

c. SBEEIAEL IR

d. XEEHEARNESFEREIAEE

ALEERITER (3T1) —BHIER ?
a. IRISEABBRMLEE

b.  ASRAELASEEIEEAR

c. HREAEIER 03 E 10 K

s

it

d WYHERKEBEO03IE10

EIRA LM E R ARSI - s/ s E S AR Ehz ?
a. HEBBREBITEORE

b. R#EAMAERRTT

c RIBEmZEAREZZER

d. 20 RETEE
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10. @A EEPIMFIBRE ?
a. 4(=2XK)
b. 6(2X)
c 12(=XK)

d 18( 2X)

11, —RESREACTHANBER ?

a. 90
b. 110
c. 180
d. 200

12. ERAESEHRERERNEE ?
a. 6(=2X)
b. 12( X))

15( X))

0

d 18( 2K)
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13. BlEE}RANEHRE ?
a. 6(=XK)
b. 8(=X)
c. 15( X))

d 20( 2XK)

14, ESRFRRIAER ?
a. BEHRIL
b. 35 =’KiEMIH
c. SEIMIENE

d. JHEENE

15. ZEMBREITER ?
a. MIRERSEE
b.  KFIRFEEBAER
c. NRHAEEHE

d. MmEREE

8 5/7



16. [EHETAEI S EEERIAO BN IR B 2
a. KIBBIE
b. BhEBIEBELE
c. $IBEsE

d. =HEC

ZEEH

17. ENMIB—ERIZR T - EBESELTRFE
a. BZERMEINITT
b. BEFKBIRRVIRIE
c. JRAEEM FRAVRIE

d KE

g

18. ZRENTEERS

a. IBANTE

b.  FELIEFS
C. REHI
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19.

20.

SAEMARE - BZ
a. RFEEREREB
b. BUBKPEHRES
c. ASHRASEREAIFR

d. Blis5& CEIRS

BOAPIIRE - NEAMERE -

a. ®BFE
b. %X
c. ERE
d. Zx%

—E 21l =
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